58973 727 71"7 '0IN X3 0°1oD .7"'02

bR 327 is not a ¥Ion — R%7 'yvom IND HRYDRa 729

OVERVIEW

27 ruled that the 71277 is according to °"9; one eats ¥2aIX 22, is wnn 92 7710 (he is
permitted to have X377, but not to eat) and is Ww nonna AW,

The first mwn in Ayw 95 states” AnA22 27981 21982 MY 7vw 93 which would
indicate that the 72%7 is according to »", where one is permitted to eat (in the YW
nwonnn) as long as he is able to have 1R (which is the meaning of 223w 7vw 95
2°98n). The X723 there concludes that it is not necessary to assume that the 73wn of
22381 1KY nmw ayw 95 follows the view of n", for in fact if the mwn would
agree with n"9 it would have stated 22x» 9218w 79w %3 (not 998> 1Mmw).” The mawn
apparently follows the view of 3"1 that only 2°173 may eat N> nnia Ayw31 and that is
the meaning of 719X [17127] Innw 3, then 07X 93 is 97287 to a 2. It would appear
from that X713 that the 71wn ano i1s according to 3" (and perhaps n"9), but certainly
not °".

X127 asked 1"7 why 27 did not rule like n"9 (who seems to be supported by a ano
m7wn) or like 2" (who 1s a ¥°70n). Our MooIn discusses the discussion between X217
and 1".

L 2
Mmoo asks:
— *5N9919) 1399 NaYN N1IYYT PNYY 199399 HYD)
And the 5''1 has a difficulty; (X297 should have asked’) that 21 should have ruled
that the 712%:7 is according to 3''" -
— S92 2INPN (x,x21p%) NYY 3 P92 HIIND NI )Y ONOT
since the Nin stated the 71wn anonymously according to 3", for the Xin taught

Tnm -
— XY ON 79N WY P1PTY U ON %Y RPADN ON 1959N)

" A v7n is a third view in an argument who compromises between both sides; thus rendering the decision.

2 ow M3 R,XO.

? The expression 222 92K 7vw 95 indicates that the same person who is eating is permitted to feed. MY YW 93
91587 indicates that when one person may eat, then (even) another person (who may not eat, nevertheless, he) may
feed. This is the view of 3" that the 0175 may eat y»nn W 7m0 during nwonnn 7yw and the 2°7%w may only have
18317 from their ynn.

# 31 should have ruled like 3" not (only) because he is a ¥19n, but rather because 7°n15 Rin 17 ono. The same reason
the X3 initially asked that 27 should rule like »n".

> See ‘Thinking it over’.

® See ‘Overview’ and footnote # 3.
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And even if it is doubtful whether it is proper to be so exacting in the inference

of the expression '\n1»’', or not -
— DN 1295 IN 9NN 295 NOYN NI DIPNI Yon

Nevertheless 21 should have said the 715%7 is either according to »''2 or 3'' -
— NN 199 TN NYY DT NONN TYII NNNY
For in any event the mw» in 7¥w %> P is according to one of them and not

according to >"1. The question is why did 27 rule according to *"7 (who disagrees with the ano
mwn of nyw 93) and not according to either 3" »"Y whose ruling is followed in the m2wn ano.

N1B0IN answers:
— 549190 NNON SIPINNT 9219 U

And one can say; that the X723 depended on the 'R28 NYasK' to resolve this issue
why 27 ruled like > and not like 23" 2",

NN concludes:
:OVN NHtYa 91",7‘1’9 9102 YHON Y991 PN

And the rules concerning 1¥9277 I will explain at the end of our 92 with the
help of zw:.

SUMMARY
The mwn ano of nyw 92 follows the view of either 3" (preferably) or (perhaps) n"-.
Nevertheless there is a ruling in a ¥n>72 which follows the view of >"1.

THINKING IT OVER

Is nvoIn question why did not 27 77X 1"1 rule like 2"9 or 3"9, or his question is on
X27; why did not X271 ask on 27 72X 1" since you suggest that the 71wn ano 1s 3"
(not like ") then why did you not rule like 3"9?'"°

7 The X1 there inferred from the word (219%%) 20w [and not 921w] that the 7awn more likely follows the view of
3"1. However one may argue that the 71w was not so precise in its expression of "MW 7vw %3 and the mwn actually
follows the view of n".

¥ The XX n°waX cites a Xn™72 which rules like "3 (that even 7170 may be eaten only till the end of '7 Ayw). X27
asked 1" initially that 27 should have ruled »"23 since this is the view of the 71wn» ono; to which 1"1 responded that it
is not necessarily so (for the 113wn may follow the view of 3"9). Then X217 continued to ask that 27 should have ruled
like 3" since (as 1"7 had just indicated that the 772w» ono is "7, and) 3" is the ¥°1on. 1"7 answered that 3" is not the
¥°70n and as to the (implicit) question of 771w» ono then ¥n°X N°v2°XR that there is a kN2 that rules like *"~.

7 PR 772 R,KD.

' See 1 7w w"xA MBOIN.

2

TosfosInEnglish.com



